ECOA (HN)-01

West Bengal State University
B.A./B.Sc./B. Com ( Honours, Major, General ) Examlnatmns, 2015

PART -1

ECONOMICS — HONOURS
Paper = I

Duration : 4 Hours | ' [ Full Marks : 100

Candidates are required to giﬁe their answers in their own words as far as practicable.
The figures in the margin indicate full marks.

Use separate answer script for each Group.

MWWMWWW |

: GROUP - A
etz

| Answer any three questions : 3x4=12

TG oS ervem Sem fiw

a;u' Use supply and demand curve shifts to illustrate the effect of the following
events in the market for apples :
i) A drought shrinks the apple crop to one-third its normal.

ii}  The price of orange triples,

Wmemmmmwww%mmﬂmm
%@ﬁﬁﬁ%ﬁ“»{*‘@@mﬂw.

i} R S @Qmﬁwm@rﬁmw&ﬂ Q- T 1 |
ity  PNERE W foRed (AT O |

| SUB-B.A/B.Sc.(HN)-EC0A-2011 | ( Turn over



ECOA (HN})-01 ‘ 2

b}  State the axioms of choice to formulate the ordinal theory of consumer

behavnour

WWWWWWWW%%WW%aWWt

c} What will be the effect of a per unit tax, with completely inelastic and
-completely elastic supply ? ( Demand curve is downward sl.oping )

mﬁwﬁﬁﬁiWeﬁWNﬁ%mwmwmﬁwﬁ@WW%m

SIS 7 { bifkAl a1 forrerr )
d}  What will be the shape of an indifference curve if a good is bad and other is
normal ? |! .
1 _
M G &1 IO { bad ) TW G BTG Aol 21 O e @E oigfe el
2@ ?
e)  Suppose a firm’s long-run total cost function is LTC = ©° -100% +360.

Find out the long-rum équilibriurEn price in a competitive market,
@b TS MLPETA (G A7 WAFF 2T -
LTC = Q3 -100% + 360 . |
AFSTRIPTORTS O I REFAN SRPT w5t Fiof T3 |
2. Answer any one question : ' . 1x8=8
A-EFH 36 avmm Tea 7w ¢
a}  Suppose the production function is Q = ALPRY O Deri\.;e the long-Tun

average cost and long-run marginal cost curves of the firm for the above.
Q= ALSK! O Seo erES T TR MKSETA o I ¢ RIEl e 4w
it Frefa ze )
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b) - How can you s-how that demand for a commodity is ‘price €lastic’ if the price
increase leads to a fall in total revenue ? Find the ihcome elasticity of
demand of a commoedity, for which the equation of the Eﬁg_el curve is given
as x=2JM . | : 4+ 4
T wm FfRd v 6 RerReTE S W W U@ FAGA BIRWIE wene Pafgienel
T (A T T (P T — 6 RpOIC (R 2 451 ARG (PP TR Q7T (R
TR x = 2/ T @ Ty bk ST Fefegorer i R 9 |

c) How does a corﬁpensated demand curve differ from the ordinary demand
curve ? Show that the ordinary demand curve will have greater price
elasticity than the compensated demand curve for a normal good. 4 +4
TR GfET (FA 8 ’ﬂﬁ%"ﬁm { coanpensated .] 5IfM| AU oy feme 2 W
mmm&mmmmmﬂsﬁﬂ@nﬁmwﬁ%ﬂmwﬁoﬁwm
ﬁ{%’slw SHY ST TR

3.  Answer any two questions : ' : 2x15=30

(- S eewn Ten f ¢

a] i Is long-run average cost CLI\‘!LC a locus of the minimum points of all
short-run average cost curvesl? Justify your answer, |
 RYTAR e W @ R ORI TS 9 @RPRRA TSR Reqem
FepTeI 7 oA SO T W I |

i) How do you derive the long-run total cost curve from the expansion-
path ? _ 8+7
TR A1 (A A o PR @ W @R SIS 2@ ¢
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b}

<)

d)

.

Consider the production fur}ction Q = 5L + 10K. What does this isoquant
look like ? What law does it violate ? If P, =5 and P, =5, what will be the

optimal factor combination. ? [f PL =5 and PK =10, find the optimal .

combination of factors. Is the production function characterised by

increasing constant, or decreasing returns to scale ? 3+3+3+3+3

W@ AE TR TEPFR 2710 = 5L + 10K | ATHGE FERAA @A o
. | .

wiplen 2@ 7 BesiMA wogd (R Pl @2 sisrEs sfeTs gy ¢ P =5 @&
Pp=5 TR, OR eSS SWH MW B 2R 7 WRE W P, <5 @A
P =10 TW OW@ PG ToAMF AL 6 2@ 2 Q% SeoAWT SoPml @I,

ﬁam@ﬂgﬂmﬁﬁmﬁwmﬁww?

1] Why a perfectly competitive firm may. continue to produce in the short-
run even if it incurs a logs ?
|

ST efSCaion CWOR (R W AT PG FSEAR T e i
T8 TR BT TN (A 2 |

i)  What is elasticity of factor substitution ? Prove that for Cobb-Douglas
production functioﬁ, the Eclasticity of substitution is unity. 7+8
Seaa Hfias FHfomere @ & @RE 7 o I @ -G
Tes (W ITFRA CFTa wﬁ%@%ﬂmwuamwm |

State the weak axiom of Revealed Preference theory. Using the axioms of the

theory show that substitution effect is negative. 5+ 10
CMsATs siged o5 73 Fo:raf JRm Py | @2 wa FePrasbr am @um o
AT AT AT T@ 1 ' '
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GROUP - B
faetii-n

4. Answer any three questions : 3x4=12

C3-F Rowlo o Gaq i s

a) Explain how the following transactions are treated in national income

accounting :
i) A writer receives Royalty for a book written by him five years back.
it Purchase of a second-hand m?torcar.

| .
frare EEmmefd Grem wimy sifisie e sifrafes 53 amrn ww9
) ¢ ) I I (PIR 48 @F T IO (FINTEE o1 TED (Royaity) |

ii Ao TS (WHIANTG @ |

b} How 1s Personal Disposable income computed from G.N.P. ?

77 TSN B (T BRI S WA A Frarstel v T 2

<) Explain the consequences of liquidilv trap.

TRETHA TV STEE FTA AT FFA |

d) . How is joblessness measured ?

POl [P #faael w31 a3 2

e) What are the factors that determine the slope of 18’ curve ?

187 ¥ bt Frfiser Tomaaafer e fo 2

|
f) What is ‘supply shock’ ? Give examples,
‘(W shock’ 99708 & Ay 2 Swrae a1
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5. Answer any one question : . 1x8=8

(AR GFD ATAF Tag o ¢

:
Derive ‘Fiscal policy’ multipliers in an otherwise Keynesian cross mode! as

a)

(i) I= Ig+ay, O<a<l and (i) T= Ty+ty,0<t<1 = 4+ 4
G AR @R oo Eme S erdey aw Rdma 399 @ue
) I= Ip+ay, O<a<l @R (i) T~ Ty+ty,0<t<l,

b} Discuss the infiluence of ‘Crowdihg out’ phenomenon on fiscal expansion.
Can you suggest a suitable policy to avoid this effect ? 5+3
g sepiRer Sofg wrofes wilh owrl WEe wed | g8 g s
TACS FICH T TS SReTed IS G 3 2

c) .Explain the impact of technological progress on ‘output’, ‘employment’ and
‘price level’ in the classical mode_!‘

FIPRTE TooET e, o ¢ wEEE 4T eyfEere ANt ofSR W
*F | |
6.  Answer any two of the following questions.: 2x15=30

@ w evr Toa i s

a)

Show that to have a negativelijloped IS schedule, the product market must
have to be stable. Discuss the étability of IS-LM equilibrium, 7T+8
(P €, WSS GFT S 1S (A1 (9L (ote1 Beonifns wiang amsrcd Sifafs sasnss

IS-LM (SE SIFFIGEE FH2S 7d Aen I |
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- b) Hoﬁr do you distinguish the AD-AS Igeneral equilibrium from the IS-LM
equilibrium ? In this connf_:ctiB.n_,. distinguish the short-run ahd long-run
natures of equilibria respectively in Keynesian and classical rnodelé. | 7+8
AD-AS STSER 479 SRR @3¢ [S-LM NIET SIESIIGIR Sid) fraole w2 |
a?ﬂ@@iﬂﬁ’fﬁemﬁwmﬂWWG%ﬁﬁmﬂw

- o v |

¢)  Write a note on the relative effectiveness of fiscal and monetary policy as
|

|
demand management policies dmfing the different phases of the economy.

wefifer fifen e SRR wrReRm frme Afe o wie Afea geTETS
PrfTrer Fay B g | | '

d) How did Keynes justify the existence of involuntary unemployment in labour
market ? Show how the laboure:E perception about actual price plays vital

rale in determining the shape of Aggregate supply curve of the economy ?

5+ 10
TR eI T AT ACARRPS @A AGTE W FE 2 9FS G 0
Waﬁmwmwﬂ%@wmfwmmmw%ﬁwqwgﬁw
AT B O T T | o |
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West Bengal State University .
B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2015

PART -1
ECONOMICS — HONOURS
Paper -II
Duration : 4 Hours | ' - [ Full Marks ; 100
Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.
S AYPTR Frew SR e Al
APFY FANBFT AT AT |
Use separate answer scripts fgr each Group.
GROUP - A
frem - =
Answer any three gquestions: " | . 3 x 4 =12

T @ @ oS e Sea A

a) If AM and G.M of two pomtwe real Tumbers are 10 and 8 respectively,
find their H.M . |
b AR A RN CAPRE TS 3 ST AT AT 10 @R 8, SR S
A a5 Refy 32 1 : | '

b) Show that S.D. of first n odd numbers is equal to 8.D. of first n even
numbers. ' -

R (T A nvf\wﬁcﬁr@mmwﬁgﬁsﬁw nﬁ\WC@T@ﬂ\WW

. fapfer s
c} Distinguish between a variable and an attribute.

P Qa @ TR N AT (Wi o5 |
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d} Show that if all prices change in the same ratio or if all quantities change

in the same ratio then show that Laspeyre's price index and Paasche's

price index will be equal.
afe w2 [l v @ w1 G ofamn a8 serrs sffee 83 e e

( Laspeyre -&4 37 7b% Paasche -4 I FABFT H41 |

) Distinguish bef{ween ‘Skewness' and 'Kurtosis'.

ATSaAN ¢ ST W 2N AT |

.ﬂ Find x,y and ey from the following regression equations :
Fics ema roae FeRae (0 .y 9% 1, a9 W e e
y-1-ix=07
x— 0687y =025
2. Answer any one question : 1x8=8
W aafs e Tom W= ¢
a) i}  Distinguish between chain base and fixed base index number. 3

3 (ST 755 ¢ FRSies JAHIaa A #A1S W |

iij Determine the relative importance of food group. It is given that cost
of Living Index numbér for 2014 with 2010 as base is 175. 5

4 g s \‘3%@ {relative importance) 78 I | (raq =T (T
2014 TETE GRETEE AW FEE P 2010 HETE AGF 175,

Group % increase in expenditure Weight
(Rres (ETEa e i) | (@B
Food (4} 65 1 _
Clothing (%) 90 12
Fuel etc. 20 18
(SN @ ST 1
Misc, (Ffag) 70 10
Rent etc. 150 20
(TS @ AT

BUB-B.A./B.SC.(HN)-ECOA-2046 |




3 ECOA(HN})-02
b) i What do you mean by dispersion ?
fafs wercs T camam

"
ii) S8how that ilxi -A | is least if A = Median. 2+6
i=1 '

R Y |x, - Al 9% T TS T T A = T

=} :
. !
3. nswer any fwo questions : ' 2x15=30
@ @ % e Teg e ¢
a). i) Compare mcan, median and mode as measures of central tendency. 7

(TR TSI e B oy, Wa! 93 FRAMSTFHET GRS AT

FEA | L
- ii} Find median from the following data.

g R B (A0 TR WA Befd e

; ; i :
Weight l_'n kg : 36-40 41~45-’ 46-50,51-55 | 56-60i61-65[66-70

ST FPrneTe _
No. of persons’ 14 | 26 | 40 | 53 50 | 37 ' 25
R

If mean is 54-3 kg, comment on the shape of distribution. 6+ 2

- Tl TS = 54-3 kg 7 OR e aem forew 7@ 7

Y
and Y. . . 5

b) i) Show that -1<r,, <1 where r,, = correlation co-efficient between X

AT T —1S7y, § 1 GO 1y = X O9R y-0F 907 2o gerrs
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if} Obtain appropriate regression equation. Defend your choice. 8+ 2

TATE W @y T wen | Wme Fees e f

L Age (vears) s6 | 42 | 72 | 36 | 63 | 47 | 55 | a0
T[T (IR

Blood Pressure | 147 1 195 | 160 | 118 | 149 | 128 | 150 | 145
(TEH1%)

<} i)  Given that x = 4y + 5, y5= kx + 4 are regression eguations of x on y

and y on x respectively. Show that 0 < k < 025 If k = 0-10,

calculate Ty State limitations of ». 4+ 3

y -99 T x <97 @8 -9 TR yaz FrEe wlisgas ze Iwe
x=dy+ 58K y=kx+ 4 ;W @ 0 <k <025 W k=010 27
O 1, TR ) ol o (r) Aaraoref e e o

i) let x be a variable assi.\ming the values 0, 1, 2, 3 ..... k and let

I
Fo, Fy, Fy, Fy ..., Fi be ?:he corresponding cumulative frequencies of

_ fc
the greater than type. Show that A M. of x, x =% ZFi* where ¥ is
=1

the total frequency. : 3

@ 9F% 1% x, x=0, 1, 2, 3 ... k 9 929 F@ | A% AR A a3
AR TGS AR SNFH Fy, Fy, Fy, Fy ... Fy T, S W G

—_ I
x -BoTRE oG x=-}%~ZFi AT N = GG <R |

i=l
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|
1) A distribution has slandsllrd deviation 3. Calculate the value of

4t central moment so that the distribution is {a) mesockurtic,

ib) platykurtic, (¢} leptokur.tic. 3
@3t FEma e [Jpfs = 3 ; Fo¥ (FFEF moment -QF I (g I

4ee MG (a) mesokurtic, (b) platykurtic, (¢} leptokurtic Zq1

d) ij On the basis of the following information compare the position of a
firm before and after dispute in terms of (a) mode wage and

{b) coefficient of variation.

frferfas o fofers (@) wefin manes TF @3 () (STTFT AR
TR A g ¢ oEd wE e

Before dispute : After disputes
faamrm mes ERIERIIE
" No. of workers 516 : 508
fir 7
Mean wage 49.50 - 5175
o3 o
Median wage 5270 ' 50-00
EEE RS
Variance of wages 100-00 121-00
T (O
Discuss the utility of relative dispersion. 6+2
wmsiPre Rgyfsa Semnfirel fe o
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ii) Fit a second degree polynomial trend to the following data and

calculate trend for 2016.

5+2

R Aferan (e ﬁmﬁ@ qzol QI eEesl ey FFE @I 2016 MEE

Aqrd faefy g
Year (354} 2008 | 2000 | 2010 } 2011 | 2012 | 2013 | 2014
Sales {in 1000 tons) | 37 1| 38 37 40 41 45 50

ey (greTa BE)
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GROUP - B
gt -
4. Answer any three questions : 3x4=12
(3 @ o oo Ten A ¢
al Show that the following ﬁroduction function

y=alnx; +{1-alin x5;0<a <1 is homothetic but not homogeneous of

any degree,
G (X y = aln x, +(1-a)ln xy;0ka <1 Seormm Aorsal coemefbr. &g

G MaTE AT HY|

b) Consider the utility function u = x?yb. Show that the function is stricily

concave {downward) for all valuesof xand yifC<a< 1, 0<b<1andif
{a+ b) < 1. What shape does the function havefor{ja+ b) =17 3+1
¥ PN GorTel Wi 2] u=x%Y, oR @ x @92 y 9 T
AT TR qeorsal Aveeir e (R @U@ 0<a<1,0< b< 1 @48
(a+ b)ﬂ;ﬂ%mb)ﬂﬂ@‘a‘ﬁmﬂwﬁﬁswm?

c) The demand function for commodity X; in a two commodity world is

P
X = M?T, where P; and P, are prices of X; and X, respectively and M is

money income, {i] PDetermine the degree of homogeneity of the function,

(ii) determine the income elasticity of demand for X,.

P .
aal A, §ft W@ SO X, = M2 ET Xy TR BIRW FORS | e X, @St
1

X, 635 (OISl IR AR AW A TURG Py AR P, (FOR WAE W E M
() STFIHA ANSSIOR @l ol T, (i) X, w@R S Efomermst fefy
5 |
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d) I Ozm'ls the production function .fir'\d the amounts of the factors
employved to minimize cost if the prices of the two inputs L and K are P
and Py. ‘ ! _
Beoqma TS AW Q =LK TF G JeoMEI Tommel L ¢ K 97 wm I
P, ST Py T T R AT Teotw TT FAWMeTH T AR TR F0
2@ O [elE F99 | .

e) In a two commodityi world, let .demand function for X] be

X = APbl Pf)bQM Find out own price elasticity, cross price elasticity and

income elasticity of demand for X;. What is the value of (by+by+c) ?

afs 9ER TS X, EEE lﬁﬂim wersah = X, = aphipey ; wafts fe

st FRfeaiEe, onaeifas win Fliemeae age wmass Risgeas I g
FFAN by + by + ¢ ) - AT AT TS 2

3. Answer any one question : ' 1x8=8
(T T G AT TR W
a) A competitive firm has the production function g= {x]xQ}U“ . Af input
prices are wy = w, =1, d'f:rive the long-run supply curve of the firm.
a3fs efewfrages ‘21’“1‘(.5!?1‘ TesMed Hiows 8 g = {xlxg ; A Jesitrm
@‘vnw@%ﬁ W wy = w, = ] . wnifbn A T G Fefy e

bj The market demand function of a competitive industry is represented by
Q =105 - P, where Qis .the aggregate guantity supplied by all firms at a
price P All flrms m the mdustry have: 1dent'.cal cost  function
C=qg- q +0-5 q wher-le Cis the cost of a ﬁrm and g is the quantity of

output produced hy each firm. Calculate

1 the output produced by each firm in the long-run, {il) long run

equilibrium pricel, {111) the equilibriuh‘l number of firms. T 4+2+2
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afscaisremers R ez sikm s O = 105 - P, GV P A1l Sesiva
afsemefE Gt e Q1 Bree gt Sewrm  afedier W@ wfen
C=gq-g°+0-5¢°; ¢ a3 Teomm oifedicnm an ¢ ¢ afel Teommr afevra
Bernfns gem offisne
) ofel Teomnm ofetinn NIEIR SesiwA, (i) OSEW GRSy 5,
(iti) G Geeve ofdi WA faery e

0. Answer any fwo quUestons : 2x215=30

a) Ohbtain the equilibrium values oﬁ Yand Sfor C=25+ 0.7Y,

I =5+ 02 Y. What will happen-to equilibrium § if autonomous C falls to
20 ? Explain your answer in economic terms. .

GIEART W 8 AWY [NEe 6 |

C=25+07Y, 1=5+02 v 3% =355 onez st o g 20 23 ©|

HRY T 2R ? WoAE Teg X SR I B |
b) Using cramer's rull, find out the effects of (i) a chaﬁge in the money
supply, (ii) change in tax rate in 15-LM model. 5+ 10

T AR LR 1S-LM NOE (i) BRI (if) 99 29 SO 2o
forrstel T '

M

c) ) Find the money income  demand function le and xg and

Yand x]Ufor the utility function

U = x;x,and show that the relationsh@hpgtﬂﬂn--xl-M-and x1U

kY

compensated demand functions Xy
is as
given by the Slutsky equationil‘ I ' 4+ 4 ﬁ’ .
U = x,x, B0 ST i o s smrmeef oM owa x, M Ao
e weop ofEm Aermeef xVare o,V ffn wR ) e v @

M e x,V @ e B (ot Al whiE wliar crem S |

|SUB-B.A./B.SC.(HN)-ECOA-2046 | ' ‘ [ Turn ever
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d)

iij Prove that in a two commodily world, expenditure share weighted
sum of own price e]agticity for the first commodity and cross price
clasticity for the seco+d commodity equals expenditure share of the

first commodity with d negative sign. ' 4

ol FEA (T 48 51 [APE offASee 9m W SET AT SNy HE@R
oy wiey ﬁr{ﬂvwmﬂ g faSty wiaa i s Fafemmieen mﬁé
e AR GO AR ST S g amys oo ﬁﬁrﬁn

i)  Show that if a consuimer maximises his utility subject to a budget
cons{raint from one given ulility index, he will behave in identical
fashion irrespective of the utility index chosen as long as the index

selected is a monotonic transformation of the original one. - 8
R (8 wift (<P CBtererdl iR QIeh AHTF (P e Bl ored CRE
AT TR TG IR, TEE AR Bl pE AR o wheaeT
WG FAR TEH G TG T <[<08] o1 6139 G o33 53 |

ii) Demonstrate that diTninish'ing marginal utility is neither necessary
nor sufficient for conyexity of an indifference curve, 7

2 AR TR (1 TR A Do) Feors @R YoraeE i
BT QW AESAT T KB X6 (@FHL T

_A manufacturer produces x machines per day aL a total cost of

C = Rs (l

5 2+l x+ 200). The demand function for the machine is

x =400 - 2P, where Pis the price per machine,

i} ~ Find the number of machines that the manufacturer should produce

to maximize profit.

]
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l _
ilj A tax ¢ per machine is imposed. If the manufacturer adds this tax to

his cost and continues to maximize profit show that price increases

approximately by % rd of the tax,

it} Find the value of t that maximizes tax revenue and show that price of

machines then increases approximately by 25%. 4+5+6
aw@aoﬂw AR ¢ = E-%x2+11x+200) Bl Gl iﬂm x SRAE IR
Teo 1 (TR SR oot 2o x = 400 - 2P, (VA p &1 ehelt (=g
it |
iy Deoimel e s SR e (e wosfa ik Set 2w 2

iy of el e Beim ¢ 37 el T e Seoims T @9 I A AR
STBGF T U I IR B A TR (R 4 T TR 4% G

A | { '

'|
i) ¢ 9% wE iae s e o9 I iR TR orem (8 SREE o
AT 25 =S AT |
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